Cross out the letter that matches your answer.
The remaining letters will allow you to figure out the joke.

Write the following logarithms in exponential form.

1. log, 32 =5 2. log, 64 =3
1
3. IO@25 5= —2— 4. 10@5 515- = -7
Write the following in logarithm form.
5. 2 =81 1
2
6. 7" =75
7. 4° =1024
H P | T 0
log, 3 = &1 log, 1024 =5 2° =22 454 =3
M U R N
63 _ _ _ log B
2b° =5 log, &1 =4 logl 216=6 7 49
S Y . W E
1|7 |
— -2
(_2“) =5 4 =64 5% = o5 10,05, 5 = 4

Answer:

Converting from exponential form to logarithmic form and visa versa

Joke #2




4. log, 64

5. log,7

6. l0g2%

7. log, 4 +log, 5

&. log,9~log, 2

)

Answer:

[ Evaluate the following logarithms. Round your answers to the nearest hundredth. The |
answer to each problem will match a letter that will allow you to figure out the joke. |

m

Cc

N

zZ X 4

- > X

: 2.05

-0.77

2.14

1 3.56

1 2.51

: -0.53

: .90

1.72

: 0.74

Evaluating logarithms

Joke #3
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Write each expression as a emgle Iogamthm Th@ answer to each
problem w1ll match a !6t1:6r that w1ll allow you 1;0 ﬁgure out th@ JOk@

+ log,x + log,y D: log, (x - &)
0: log, x’
2. log,x—log,y
K: log, x®y?
3. 7log,x S: log, x°
E: log, (‘;“)
4. Zlog,x + 2log, x
C: log, x®
5. 4log,x—3log,y - log, z Y:log, (x* - 4)
O: log, xy
1
6. - log,x + Blog, y 1
2 3 3 . L
A: log, Xy
7. 2(log,x + log, y) U: log, y° Vx
X2 — 2% + 1
log, »
8. log, (x+2) +log, (x — 2
g4 ( ) @4 ( ) W: lO@A_ X6y
x4
9. Zlog, (x—1) — log, T: log, Y’z
5/ 3 6 7 5
Answer:
Properties of logarithms #1 Joke #5
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« 7log x + 3logy — 2log z

2. log % + ©log x
3. 14log Vx

4. log (x + 3) + log (x=1

5. %(logx +log (x + 5))

6. log (x? + 4x) — 3log x

Write each expression as a single logarithm. The answer to each
problem will match a letter that will allow you to figure out the joke.

S: log x*
D: log (x + 2)

E: log x®

U log V2 + By

5]

7,
A: log —X—Z‘ZL

O: log (x* + 2x — 3)

W: log x?
7. 3log x — log L I lo 1
X "3
M: log 252
&. log (x — 2) ~log (x* — 6x +9) Hlog
. 7
9. log x~3(2log y + log 2) N: log x
Y: log VX
10. log (x +2) + log (x — 1) - log (< + 2x — 4)
O: log _6X“5
y°z
4
M: log x*:(_r
& 3 1 10 4 5 6
Answer:

Froperties of logarithms #2

Joke #6
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“What do you call a person who likes to blow up bars?”

Write each expression as a single logarithm. The answer to each problem will
match a letter that will allow you to figure out the joke.

10.

11.

12.

5l0gs X + 7l0g: Y n: log: X’y
6log x — 4log y — 2log z 0: log ( ;1(_] )
3(logs x — 4logs y) L. log x*
logl‘l' 4[09 X 0: lOgS xsg7
X

S: log(x +1)
20logy/x

0: log 9‘[2@
3l0g: X — log%

A: log: x*
1 (log x + 3log y) — 2log z Y
2 E: log x°*

guzz

3(2log: x — 4logs y) + 2(5log: Yy — 10g: X)

R: log x*
log: x — 2(log: y + 3l0g: X)

B: log (-
l0g(;255) +tog (X1)

A [0g: X*
log (x* + 2x + 1) — log(x* — 1) Y

M:  log, i
log (x + 2) — (log(x* — 4) — log(x* — x — 2)) Y

2 8 4 1 10 6 3 1N 7 49 1M 2 5

Properties of Logarithms

Joke #14
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